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QUESTION 1

Which three optional clauses can be used whencreating an external function? (Choose three.) 

A. SCRATCHPAD 

B. NOTEPAD 

C. LANGUAGE 

D. EXTERNAL NAME 

E. DATABASEINFO 

Correct Answer: ACD 

 

 

QUESTION 2

Which declaration is not valid? 

A. DECLARE var1 DECIMAL(9,2); 

B. DECLARE var1 VARCHAR(20); 

C. DECLARE var1 CHAR; 

D. DECLARE var1 INTEGER DEFAULT; 

Correct Answer: D 

 

 

QUESTION 3

Which SQL statement is allowed in a BEFORE trigger? 

A. INSERT 

B. CALL 

C. MERGE 

D. UPDATE 

Correct Answer: B 
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QUESTION 4

Which statement is true about the data types VARCHAR and VARCHAR2? 

A. The VARCHAR data type cannot be used with a database thathas been created in Oracle compatibility mode. 

B. The VARCHAR2 data type treats empty strings as null; the VARCHAR data type treats empty strings as not null with
zero length. 

C. The VARCHAR2 data type length is limited to 2000 bytes; the VARCHAR data type length can be up to 32K. 

D. The VARCHAR2 data type cannot be used in a database that has not been created in Oracle compatibility mode. 

Correct Answer: B 

 

 

QUESTION 5

Which tool can be used to get quick static SQL Explain data from packages? 

A. db2expln 

B. db2exfmt 

C. Control Center 

D. DB2 command center 

Correct Answer: A 
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